®npdupuin wljwi thoih juighplitpp
11-12 pmuwpububp

REn, Uh L] 2.5-2- 3 J Gplyuwpnueyndy; Juyplywlwswih; pwlnl 50 ud Gpywnniejwdp, Gpynt
antlwywl whwnnypUtip (ubnd 51 Uu); A4 phinehl, Gnun. pline A4 gnwbhywlwl pnine’
adwagnudwl hwdwp: - 9 y
Ubnwuh Ggnhu wdpwgpbe ubndwyubnp Jhdjwughg 40 - 45 ud AL
hGnwynpniejwl ypw: Ywwbe phih Swiptpp ubndwyutnhl,
npwbtugh AL 2tinnudp thuh 2 - 3 ud Jhlusle wyu pbith YGup, nph
Gpywnnieyntup Unwin 60 ud £ W nphg Ywhudwd E 20-40 quugwdnyg
pbn.: Upnynctupnid unnwlncd Be Uywnnud ywwnybpdwd C}
hwdwlwpap: lnmbnwwndtiny pGiEph wdpwgdwu Yenkph

hEnwynpnreintup Ywnnn e hwpdwpbgut «oGndwl» AL swithp: LoGUp nunnuihwjwg
hwnrnieintup, nph nhpegnd gunudnud Bu pEGpp W pbnh

hwywuwpwyznnipndu (UJwph P hwppniendu) yhdwyned: @neh ypw nunhn ghd pwpbe W
inbnwnpbe wjbu hwwnwyht wjbwbu, np gdywd nnhn ghdp puunnptl guinuynd £ ubnwilih Ggnh twy
W gnrqwhtn Ep npw:

1) Quithtig P hwppnientunid Jwpbdwnhywlwl 6nbwlwyh ubnwUh GognhUu gniqwhtn
wnwwnwlncdubph T; ywppbnpnieyntup: Gndwlwyp wybwne Ewpdyh goywd ninhn gdh ynwjny:

2) Quitht ubinwuh Ggnphu nLnnwhwjwg ha82wu2jwunwum Jwrtdwunhljulwl énéwlwyh
wnwwnwlncdubph T, wwppbpnieyndup: Snéwlwyubph 2wndnudp ypwhuybine hwdwp

hwwwyhl nptie renreh rEpRHY, npwbugh gddwd ghdp nunnwhwjwg thuh

utinwlUh Ggnphl:

3) ”Eprhyp nUb hwwnwyhu wjuwbu, np gdywd ninhn ghdp Yuquh £ dninwydnpwwbu 45°wliyynil

P hwpeniejwl Uywundwdp: Sente ptnp gdywd nunhn adh GEplwjueny Uh pwuh ud-ny

W pwg rpnnbe wjl: REnpp Yulyuh nwlnwn 2wndytbl thnthnfuynn hGunwagdnd: 36nwagoh wpnjtyghwl
Lwhi hnphgnuwlwl hwpeneywl ypw2dnwn nunhn ghd k£, wjunthbunle wunhtwuwpwp yepwddncd
E Elhwuwaly, 2powlwaleh W wyu: dnce Yupnn Be Ujwwnt, np ptinh 2wpdndp ghywghu £, wjuhugl®
npn2 dwdwuwly T wug ptinh 2wndnudp YyGpwnwnUuw ulygplwlywl hwpenieinil, W Upw hGnwaghdp
Jnwun Yihup uygpbwlwl nunhn gdhl: Quithte T dwdwlwyp:

4) dnpabwlwunpbl nrunwdbwuhpbie Ywhudwdnie)niup T(AL)" thnpubing AL 2-7 ud dhowlwjenid
(UWwquwagnyup 5 Ywnned) wwhwwlubind L d50 ud) hwuwnwunnidu windbeny: Quithnudubinh
wnrynitupubpp gpwugbe wnynuuwyned:

5) ®npalwlwunptbU ntundbwuhpbe (L) Ywhudwdnipniup” thnpubing L 25 - 60 ud dhowwjenid
(UJwquwagniup 5 Ywnned) AL (2,5-4 ud) hwuwnwwnnil windbeny: Apwugbe swhnudubiph
wnrynitupbbpp wnynLuwyned:

6) bpp AL < L 7(4L, L) Ywhudwdnienit unbih Euywpwapbit = A LY AL pwiliwaliny;
Ogwnwagnndtiny thnpdwpwpwywl wprynitupbbph gpwdhyulwl uynedp, npnpbe a UL S.
wndtepubpp

7) Unwownybe Ywhujwdnipjwl wnbuwlwl hhduwynpnud t = A L*a AL™S, unwgbpe
nbuwywlnpbl wyu Ywhujwdnipjwl (4, a I f) ywpwdbwnpbph nbuwwu wpdbep: Iwdtdwnbe
nbuwlwl wpryndugltinp a-h W B-h hwdwn® abp unwgywd windteutinp:

Snignid. 4-nn YGinh ypw wphuwinbihu wpnn Bg ogunwagnpobp Uninwynnpnipyncup
1+x) =1+ nx, bGpb x<K1:



10-n puuwpw

o sonst s o o> o IO

nwnwidwl yquppbpnipjut jujupjuénipniup nppuip vhwgunn
quuuiwlh Epupnipiniihg b juppdwb tputwlhg: - I "
Lwju swthbp sjupdws quuuibilh Epljupnipiniup:

Uwpptp. tplnt wdpujuut puphljutpny, quuyubwl juydws plkpny, tplnt ntnht
dtnptpny, Juypytuwswth, pwunt, kpynt pinttp

Unwownputpubp.
w/ Zwjuptp tjupnid yunlbpyws uwppp

p/ ®npd 1.

$hpubip L=1=25 ul: Sknuowpdtin] wilpuljupmbitpp’
thnjutip quuyutulh Epupnipynitip: Uh thnpp otinkp
dwpuhuubphg dklu ninqudhq hwppnipjutt
ninnuhuwjug ninnnipjudp; Quthbp dupdhuubphg
Ukhh LpYnt hwenpuljui juiq wetbint Uhol
dudwtiwlyp:

Unmniuuljmud gpuntp quuubwlh tpljupnipiniup nu bplgnps | wenaphi
uwnugusd dudwimyp: Uplukp suthmdukpp s TR BRI | e

Sud gny
wsulrtuu

quuuiuwlh Epupugdui 2 ud < x< 10 ud wpdtputph

wnhpniyyph hwudwnp:

Yuwnnigkp 7'-h jupijwédnipiniup x -hg: Cupwnpyniud k, np wyt niuh
T=px+q

wkupp: dpwdhlihg quitp p-h b q-h wpdtpltpp:

¢/ ®npd 2
Uju thnpdnid, pnnubiny 1=25 ud b dqkny ntwnpuubph dhony wughuguws phip,
thnthnjunid Gup L Epupnipiniup dhgh 8 ud, vhon qywhuywikiny quuubwlh
Epupnipiniup 6 ud: Uh thnpp obntp dwpdhuttinhg dkyp ninnudhq hwppnipjutt
ninquhwjug ninnnipjudp: Quithtp dupdhbiitphg dkhh bplnt hwenpruljwt fuig
wnubnt vhol dwdwuwlp:Unniuwljnid gpuntp L tpljupnipjut nt uinugyws
dudwbwlh wpdbpubpp: Yunmgkp 7-h jujujwoénipiniup 1/L -hg: Cipunpynid k, np
wyl nith

T=k/L
&h'ow £ wpmynp uw, pb’ ny: Gph wyn, wuyw huspuw’t k k-h wipdbpp:



9 nuuwpui

Npnotip mthwjun hknnijh jannipiniup, tkpuplhsh quugqduép wnwtg djungh, Yungh
qutqudp.

Qnpshpltp b uvwppudnpmudibp tbpuplhs G Gud 10 dp), opny 19ywd UkS pudwly, muthwyn
htnniyny pwdwl:

Qnh uwnnipyniup p = 1000 Yg/uB k:



